A B C
FS +Ky1.1 Shift (AV1)
i < 1 -
£ £ 04
— 100 o +
) @ 02 =
g £ g0
S 50 g 0.0 ) .
g < pv4 10
m | ]
s 0 ! -0.2 -1 | ) Tueesr LT o t ¢ i
0 1 -10 O 10 _Na . . Na i .K i Kyl.1 Kyl.1 .A ) ) A .
Current [nA] AVip activation inactivation activation activation inactivation activation inactivation
D E F
Cb stellate +Ky1.1 Slope (k)
w < 1 - o .
T 40 = ~ o K
— L]
- g 0.00 —
) © ©
5 o - 0
g 20 2 -0.02 5
o & v
o o
L 9 < —-1b= + * t t + + 1
0 1 0.5 1.0 2.0 Na ~ Na K Kvl.1 Kvl.1 A ) A
Current [nA] k/kwr activation inactivation activation activation inactivation activation inactivation
G H I
Cb stellate Conductance (g)
~ < 1 o —
T 100 £ °
= o 01 =
> b =
2 S 3 o
o 50 8 0.0 c
3 ta} N Q
o < v
o 4
w 0 <-01 -1 been * | t I t
0 1 05 1.0 2.0 Na K Kvl.1 A Leak
Current [nA] a/gwr
A RS pyramidal ¢ RS Pyramidal +Ky1.1 ¢ Cb stellate m  Cb stellate AKy1.1 ¢ STN +Kyl.1
RS inhibitory RS Inhibitory +Ky1.1 4 Cb stellate +Ky1.1 = STN = STN AKyl.1

FS

o FS+Kyl.l



